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Topic: Mathematics-Section A
Item No: 1
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Topic: Mathematics-Section A

Item No: 2
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Topic: Mathematics-Section A
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Item No: 6
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Question Type: | MCQ
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Topic: Mathematics-Section A
Item No: 7
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Question Type: | MCQ
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Topic: Mathematics-Section A
Item No: 9
Question ID: 144969
Question Type: | MCQ
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Topic: Mathematics-Section A
Item No: 10
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dy Xy :.s:4 +2x
WLy = f(x) T gt = =. x€ (-1.1) SqFeI~ ANHIN0F
L e 1-x~
Question: ﬁ
TN 0 ST = YA OI=C. | fx)d -9 TR,
A
2
T 1
A: s
4
B: L £
3 4
C: X £
6 4
D: L £
6 2
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Topic: Mathematics-Section A
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Item No: 17
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Item No: 18
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Topic: Mathematics-Section B

Iltem No: 28
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Numeric Answer
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Topic: Mathematics-Section B

Item No: 29
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Topic: Mathematics-Section B

ltem No: 30

Question ID: 1449630

Question Type:

Numeric Answer

Question:

&l a. b.c.d € {-1.0. 1.2.3.......10}-|Lﬂwaﬁ@%wﬁﬁ42[” Z}
c d

NS AT AR G 4 =41 B |




Topic:

Physics-Section A

Item No: 31
Question ID: 1449631
Question Type: | MCQ
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Topic: Physics-Section A

Item No: 32
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Question Type: | MCQ
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Topic: Physics-Section A

Item No: 33
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Question Type: | MCQ
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Topic: Physics-Section A
Item No: 34

Question ID: 1449634
Question Type: | MCQ
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Topic: Physics-Section A
Item No: 35
Question ID: 1449635
Question Type: | MCQ
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Topic: Physics-Section A

Item No: 36
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Physics-Section A

Item No: 37
Question ID: 1449637
Question Type: | MCQ
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Topic: Physics-Section A
Iltem No: 38
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Question Type: | MCQ
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Topic: Physics-Section A
Item No: 39
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Physics-Section A

Item No: 40
Question ID: 1449640
Question Type: | MCQ

M SRR IF(6 [BA (FE 2 a3 2o <) TIEF 6 WS [Row =01 9%

Queston: TG TST AT W56 0I5 (LI SAS (S,
A: 12

B: 23

C: 1:1

D: 23

Topic: Physics-Section A

Item No: 41

Question ID: 1449641

Question Type: | MCQ
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Topic: Physics-Section A
Item No: 42
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Question Type: | MCQ
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Topic: Physics-Section A

Item No: 43

Question ID: 1449643

Question Type: | MCQ
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Topic: Physics-Section A
Item No: 44
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Question Type: | MCQ
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Topic: Physics-Section A
Item No: 45
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Topic: Physics-Section A

Item No: 46

Question ID: 1449646

Question Type: | MCQ
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Topic: Physics-Section A

Item No: 47
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Topic: Physics-Section A

ltem No: 48

Question ID: | 1449648

Question Type: | MCQ
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Topic: Physics-Section A
Item No: 49
Question ID: 1449649
Question Type: | MCQ
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Topic: Physics-Section A
Item No: 50
Question ID: 1449650
Question Type: | MCQ
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Topic: Physics-Section B

Item No: 51
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Topic: Physics-Section B

Item No: 52

Question ID: 1449652
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Topic: Physics-Section B
Item No: 53
Question ID: 1449653

Question Type:

Numeric Answer
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Topic: Physics-Section B
Iltem No: 54
Question ID: 1449654

Question Type:
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Topic: Physics-Section B
Item No: 55
Question ID: | 1449655
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Topic: Physics-Section B

Iltem No: 56
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Topic: Physics-Section B
Item No: 57
Question ID: 1449657

Question Type:

Numeric Answer
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Topic: Physics-Section B
Iltem No: 58
Question ID: 1449658
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Topic: Physics-Section B

Item No: 59

Question ID: 1449659
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Topic: Physics-Section B
Iltem No: 60
Question ID: 1449660
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Numeric Answer
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Topic: Chemistry-Section A
Item No: 61
Question ID: 1449661
Question Type: | MCQ
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Topic: Chemistry-Section A
Iltem No: 62
Question ID: 1449662
Question Type: | MCQ
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Topic: Chemistry-Section A
Item No: 63
Question ID: 1449663
Question Type: | MCQ
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Topic: Chemistry-Section A

Item No: 64

Question ID: 1449664

Question Type: | MCQ
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Question: W_
NG : log 2=0.30
log 3=0.48

A: 200 s

B: 323 s




C: 467 s

D: 532s

Topic: Chemistry-Section A
Item No: 65

Question ID: 1449665

Question Type: | MCQ

fars 1t f43fS ome . g Wi A 998 w=if6 S R w05 fofzwl
IR A: ST (ST TGS SO ST G SCH S0 32T 20N
2B (3, SRR [l 478 FITIF I 7087 =71

Question: TR R: 700 T TE1 [{Eado WEATF STH LI B"
(FETNC HATR 18 (ST Sl
G (Bfoesfera S ove [Reg el w o [eglt bze w1

A: A 433 R BO¥E 513 I8 R A-R 5136 17|

B: A 438 R BBTE 315 J98 R. A-J7 A3 7147 |

C: AT (&3 R S3F w3

D: ANPFE T Eb@ R (53|

Topic: Chemistry-Section A

Item No: 66

Question ID: | 1449666

Question Type: | MCQ

fea (T 4rgfGF Se=rE YE FW 498 T NS WIFW JF0

Question: - e
A Al

B: Ga

C: Se

D: In

Topic: Chemistry-Section A
Item No: 67

Question ID: 1449667

Question Type: | MCQ

Question: (T 4Tg G2 MAFRC-fofad TR EH (AlH WHEe =7+
A: ST

B: GIES




D: EES

Topic: Chemistry-Section A
Item No: 68

Question ID: 1449668

Question Type: | MCQ

ZRGIGH ATE-TIHEG 78 TR FS AN AEHCAG-99 B0

Question: ﬁﬁ?ﬁﬂ oo @%W@%lﬁ‘ﬁ
A: (I Mn*". H,0

B: (FF9 Mn”". H,0

C: (I Mn*". H,0. 0,

D: (FF Mn>". H,0. 0,

Topic: Chemistry-Section A

Item No: 69

Question ID: 1449669

Question Type: | MCQ

far 76 fA9f® ome . a6 I A 993 W0 I R 05 BiTw)
I A: LiF GLeT TN &7
& R: ST STOTTAA NI Li+- A7 ST 78 TF FN 38 OF

Queston: e GRIlRIG Or (NI ) TS S
SN [RgMoafed WIS ome [Regele (IrF 13F Gedlt hixe F4
A: A 43¢ R \5OUE N3 498 R. A-IF AOF 74T
B: A 43¢ R 5OT2 A9 J3¢ R. A-IF H3F I A=
C: AVF [FF R AP HI
D: ANPFE T EFE R Ao
Topic: Chemistry-Section A
Iltem No: 70
Question ID: 1449670
Question Type: | MCQ




fos it 31 ove a6 Wifs A 933 TG 3@ R 0oy BiTel
T A: (@IEF WG 9F0 Y7 ==
If@F R: @IS WG, UG MG H SR & $a00 56N 31 23] Gl

Question:
22O OH SR P 95 0N H AN Y& #Ld
SAd [RAgfoalas o< ame Iegald 2200 SToRs GaTs
@\Bﬁ 6 EEI%@?@'
A: A J95 R TO¥E q3F 438 R, A-IF ABE I
B: A 438 R 5ON2 q(HF 438 R, A-F AMAE LT =
C: ANDFE FZRABF AT
D: A N3% 79 {8 R 55
Topic: Chemistry-Section A
Iltem No: 71
Question ID: 1449671
Question Type: | MCQ
Question: NIRRT 4Tgd G od (FI510 (orawefdss seum: Fe,26: Cu.29)
A: K3 [CU(C}:)q_]
B K,[Cu(CN),]
Topic: Chemistry-Section A
Item No: 72
Question ID: 1449672
Question Type: | MCQ
SIfFFI1 99 2w SIfeSI1I (1S -
SIFSLI SIS
LREar| BeH
A G 1 B
Question: B. GG W ARAES 11 AGF AT
. [F9re Oqi 419 111 IS A1F
D. Bl IV. IS SIaL=T

i N T

ome [Regald 2are AP Gadb biTw 34 :

A-IL. B-III. C-IV. D-I




B: A-II. B-I. C-IV D-II1

C: A-l. B-IV. C-I1, D-ITT
D: A.l. B-IV. C-III. D-IT
Topic: Chemistry-Section A
Item No: 73

Question ID: 1449673

Question Type: | MCQ

FINFALE IUPAC Na(S WIS S Pl Yellpa WA T I

Question:

UERCHEET B
A: — COOH > — CONH, > — COCl > — CHO
B: — S03H>—COCl>— CONH, > —CN
C: — COOR >—COCI>—NH, > »C = 0
D: — COOH > — COOR >— CONH, > — COCl
Topic: Chemistry-Section A
Item No: 74

Question ID: 1449674

Question Type: | MCQ

Question: fATEa (PG ([EGALIG (FIT5TF SHIRIT T2

A: _‘0

g@

O
s
S

Topic: Chemistry-Section A

Iltem No: 75

Question ID: 1449675

Question Type: | MCQ




Question: I (5O WES WK SIS WG ATST T2
A: fFohE
B ([ANG T2 WG (FREG
C: @G (FEIEG
D BT a3 (HoTe
Topic: Chemistry-Section A
Item No: 76
Question ID: 1449676
Question Type: | MCQ
i
EtO0 — C — H,C —Q CH.CH,oN ) DIBAL-H
, : g (i) HoO
Question: &
]:Et iS _CQHS]
GAAd [T [RIe~ @1 @ 941w B AWt Nifee e
A OHC — H,C ﬁ CH,CH,CHO
0
8. ol
' EtO — C — H,C @ CH,CH,CHO
0
c: I .
: EO —C — uzcﬁ CH,CH,COOH
D: OHC — H,C Q CH,CH,COOH
Topic: Chemistry-Section A
Item No: 77
Question ID: 1449677
Question Type: | MCQ

omw Ry ReRtsa s yaazs wuft 234

NO, OH

Question: é] ; é:l
NH, |
A: HNO,, Fe/H'. HNO,. KI, H,O/H"




HNO,. KI, Fe/H". HNO,, H,O/warm

C: HNO,. KI. HNO,. Fe/H", H,O/H"
HNO,, Fe/H". KI. HNO,, H,O/warm

Topic: Chemistry-Section A

Item No: 78

Question ID: 1449678

Question Type: | MCQ

Question: R N ERCE L [ BN [ GERCHG ESIDIRO R

A: SRS & SCIafR=

B EREER GEE|

C: SR 8 ST

D fSiem & SBrafa=

Topic: Chemistry-Section A

Item No: 79

Question ID: 1449679

Question Type: | MCQ

Question: 2R WA AN A1 SOI6 (CF95TTH)

A: TR

B NG

C: BIEICI AT

D SOTSIRATCH G

Topic: Chemistry-Section A

Item No: 80

Question ID: 1449680

Question Type: | MCQ

frE ufG 3% omw . 9fC 79 A 93z =0 IS R T BTl

T A: CENaAANEN AB(6 pH WO T6F; 231 IEF I 3903 @

Question: SR WIETTN (oM 9 (Tl
FIATR: (FAANDNAN IF6 T 9H 4 SHIT NI [{EA1Grs =9 711
s [egt bire wa.

A: A 49% R G0z NdP A5 R, A-IF AlS LT

B: A 4935 R Bw¥2 N3P J98 R. A-AF ABH QT F0=




C: ANDFE FZRADE 7T

D: A TS WY [$3 R A0S
Topic: Chemistry-Section B
Item No: 81

Question ID: 1449681

Question Type: | Numeric Answer

27°C SIYNTATT @ 6 bar BILH 0.0125 m® TFNSIF JFI06 AT TRGNGH &
fRIETTd 10 ¢ AT ST (Fe T =0ty e Rfemnys o3 e.

Question: i i

AMG:R=8.3TK " mol”

(H g38 He—IF NIV IRE ©F IAEFCA 1u 38 4u)
Topic: Chemistry-Section B
Item No: 82

Question ID: 1449682

Question Type: | Numeric Answer

mﬁw%w;gfﬁmwamwﬁm?m@wmw

Question:

GeTNTY BEF NGET MGRE LT ‘a’% (A a"—ad W .
Topic: Chemistry-Section B
Iltem No: 83

Question ID: 1449683

Question Type: | Numeric Answer

H,F>(g)— Hs(g) F-lg)
a2 fafearg Gy 27°C wrersrany
AU=—59.6 kJ mol ™!

Question:

A% RIS G 919 (GNE9)-47 ARTO~ = () kJ mol™!
IEEESr R R
& :R=8.314 TK ~'mol.

Topic: Chemistry-Section B

Item No: 84

Question ID: 1449684

Question Type: | Numeric Answer

10 WIS TIRS A9 1 (el BRCR STROAICES 903 3 Kl a2
‘A9 2 CNTeTTe B9 R 209 6 KI Ky, <R3 Ky — 97 SIS Ky K
B8 1: XI X -9 N

Question:




Topic:

Chemistry-Section B

Iltem No:

85

Question ID:

1449685

Question Type:

Numeric Answer

WfSfd@ KI a3 SAEGrs 432 616 ((4oA1H) (F ToHH I92H S
FI TCFE BT 10 ml ATV RS 0.02 M 20T T 20 ml
ARINR ST [ AT =4

Question: Cu2™- A7 (TR ST (5T <1072 M.
MG : 2 Cu +41 = Cuyl, +
I,+25,05 95 2I'+ 5,07
Topic: Chemistry-Section B
Item No: 86
Question ID: 1449686

Question Type:

Numeric Answer

g (RIFIT Be g B-(® Wra~® F41 M TN (BN HUT 26l
|

tion: R
Question C,H;OH + PCl; —C,HsCl + A
A+PCl; - B
Topic: Chemistry-Section B
Item No: 87
Question ID: 1449687
Question Type: | Numeric Answer
Question: MnF ;, MnF; 49 MnF,-J9 V(47 SIgoN G Norg oo
' T G SNSRI NN B.M.| [[REBON <54
Topic: Chemistry-Section B
Item No: 88
Question ID: 1449688

Question Type:

Numeric Answer

Nz TSI V- 99 95 (PIINTIN AT RN ((aNfas

Question:
S HR)- A9 HYTT |
Topic: Chemistry-Section B
Item No: 89
Question ID: 1449689




Question Type:

Numeric Answer

Frem=teTg S0o7 ([ cHLCH-MeBr B0 100 ml AENIe, STP-(W 2.24
3 JLvis

Question:
m] DTSN JH10 5175 5 FLI B SN G megl
Topic: Chemistry-Section B
Item No: 90
Question ID: 1449690

Question Type:

Numeric Answer

Question:

fTER SVl ol T6-CEN (RTee i) Gt res
SHIERT
ST, (fRSEm 6. SrffNes. s




